Efficiency vs P,

+0.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01
0.005

10

Ratio

[y

107 1 10 prT (Ge\})o3

—=— DQM_MKFIt_TTbase

—e— DOM_mKFit_TT retrainOldFiles125

—— DQM_mKFit_TT retrainNewFiles125

—— DOM_mkFit_TT retrainNewFiles125AndSQCD

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005
+0

.............................................

..................

Ratio
N

s
s
- o
=
3
X
o
i
.
s
2
3
2
> <

[3)]

[N A S LA
N

) -

-

N

w

0.5!
TP N

Efficiency vs ¢

=0.02 :
7 o
oQORT: 110§ SRRSO OO SRR OO0 (AR
o =3 -+ J
9.016F
o [4 !
D.014ET -1 AH - Fee b 5
@ E: bl
0.012F}-{--- 411 B D ;

0.0} : 41
0.008H 1
0.006f j
0.004H i
0.002f -
o Off .
T 15 4
@

TP @



	Contents
	Page 1


